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Seat No.: ________                                                           Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–III • EXAMINATION – WINTER • 2014 

Subject Code: 3330206 Date: 05-12-2014        

Subject Name: Automobile Component Design 

Time: 10:30 am - 01:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks.  

4. English version is considered to be Authentic. 

Q.1  Answer any seven out of ten. 14 

 1. Differentiate between mass and weight.  

 2. What is unit?  

 3. What is factory of safety?  

 4. Define Young’s modulus.  

 5. Write down the function of clutch.  

 6. Draw the sketch of Side Crankshaft and Centre Crankshaft.  

 7. Write down the types of fits.  

 8. Define bearing stress.  

 9. Draw turning moment diagram for a 4-stroke I.C. engine.  

 10. Which material used for inlet valve and exhaust valve.  

    
Q.2 (a) Which material is generally used for piston? Why? 03 

  OR  

 (a) Write down design criteria of piston.   03 

 (b) List various forces acting on connecting rod. 04 

  OR  

 (b) Why connecting rod is usually made from I-section? 04 

 (c) Find piston head thickness for 4 stroke engine from following data: 

Cylinder bore: 100 mm, Stroke: 125 mm, Max. gas pressure: 5 N/mm2, 

Indicated Mean Effective Pressure: 0.75 N/mm2, Mech. Efficiency:80%, Fuel 

consumption:0.15kg/BP/Hr, Higher Calorific Value :42000 KJ/kg, Speed:2000 

rpm, C=0.05,k=46.6 W/m/0C, Tc-Te=220 oC, Take 6t=38 N/mm2 

07 

  OR  

 (c) Find the dimension of I-section of connecting rod from following data. 

Mass of reciprocating part:4.1 kg,              Engine speed:1800 rpm, 

Length of connecting rod :380 mm,           Stroke:190mm, 

Piston diameter :100 mm,                           Factor of safety:6, 

Max. explosion pressure:3.15MPa,             a=1/7500, 

Crushing stress: 320MPa, No. of bolts:2, Take 4t*t*5t section. 

07 

    
Q.3 (a) Explain Coefficient of Fluctuation of Speed in flywheel. 03 

  OR  

 (a) List the materials and manufacturing process for crank shaft.  03 

 (b) Explain bearing pressure and stresses on crankshaft.  04 

  OR  

 (b) Define live axle and dead axle. 04 
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 (c) The scales for the turning moment diagram for an engine are as 

Follow. 

Turning moment: 1mm= 70 N-m and Crank angle:1mm=4.50 

The turning moment diagram is repeated at every ½ of engine revolution and the 

areas are -35, +410, -285, +325, -335, +260, -365, +285,    -260 mm2. The 

engine speed is 900 r.p.m. and the fluctuation of speed is 2% of the mean speed.  

Find the mass and cross section of the flywheel rim having 650 mm mean 

diameter. The rim is rectangular with the width 2 times the thickness. Take 

density as 7250 kg/m3. 

07 

  OR  

 (c) The gear ratios for a car are: 1st gear 3.9: 1, 2nd gear 1.85: 1.Top gear =1:1. 

Constant ratio of differential = 5.6. Determine the speed of car in each gear if 

engine RPM is 4200 and rear wheel diameter is 780 mm. 

07 

    
Q.4 (a) A single plate clutch both side effective is to transmit 25 kW at 3000 rpm. The 

ratio of outer diameter to inner diameter is 1.25, coefficient of friction as 0.255 

and maximum intensity of pressure is 0.1 N/mm2. Determine the outer and inner 

diameters of frictional surfaces and also determine axial thrust. Assume the 

theory of uniform wear. 

07 

  OR  

 (a) Explain design calculation of Crankshaft. 07 

 (b) An automobile engine develops 28 KW at 1500rpm and its bottom gear ratio is 

3.06 If a propeller shaft of 40mm outside diameter is to be used, determine the 

inside diameter of the shaft, assuming a safe shear stress 55*103 KPa 

07 

    
Q.5 (a) Write basic design consideration for I C Engine 04 

 (b) Explain Maximum Fluctuation of energy in flywheel  04 

 (c) Give definition of  various types of stresses 03 

 (d) Define following terms with respect to gear terminology.  

1. Face width 2. Addendum 3. Module 

03 

 

************ 

ગજુરાતી 
પ્રશ્ન. ૧  દશમ ાંથી કોઇપણ સ તન  જવ બ આપો. ૧૪ 

 ૧. મ સ અને વજન વચ્ચેનો તફ વત લખો.  

 ૨. યનુીટ એટલ ેશ?ુ  

 ૩. ફેક્ટર ઓફ સેફ્ટી શ ુછે?  

 ૪. યાંગ મોડ્યલુસ સમજાવો.  

 ૫. ક્લચ ન ુક યય લખો.  

 ૬. સ ઇડ્ કેંક્શ ફ્ટ અને સેંટર કેંક્શ ફ્ટની આક્રુતી દોરો.  

 ૭. ફીટન  પ્રક રો લખો.  

 ૮. બેરીંગ સ્ટ્રેસ સમજાવો.  

 ૯. 4-સ્ટ્રોક આ.ઇ. એંજીનનો ટનીગ મોમેંટ ડ્ ય ગ્ર મ દોરો.  

 ૧૦ ઇનલેટ વ લ્વ અને એક્ઝોસ્ટ્ટ વ લ્વ મ ટે ક્ય ુમટીરીયલ વપર ય છે?  

    
પ્રશ્ન. ર અ પપસ્ટ્ટન મ ટે મોટેભ ગે ક્ય ુમટીરીયલ વપર ય છે ? શ  મ ટે? ૦૩ 

  અથવ   
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 અ પપસ્ટ્ટન ડડ્ઝ ઇન મ ટેન  ક્ર ઇટેરીય  લખો. ૦૩ 

 બ કનેકક્ટિંગ રોડ્ ઉપર લ ગત  પવપવધ બળોની ય દી લખો. ૦૪ 

  અથવ   

 બ કનેકક્ટિંગ રોડ્ I-સેક્શનનો કેમ બન વ ય છે? ૦૪ 

 ક નીચેની મ ડિતી મ ટે 4-સ્ટ્રોક એંજજનની પપસ્ટ્ટન િડે્ જાડ્ ઇ શોધો 
પસલલિંડ્ર બોર:100mm             સ્ટ્રોક: 125mm 

મિત્તમ ગેસ દબ ણ: 5 N/mm2    ઇંડ્ીકેટેડ્ મીન ઇફેક્ટીવ પે્રશર: 0.75 N/mm2 

પમકેનીકલ ક્ષમત : 80%           ફયઅુલ વપર શ:0.15kg/BP/hr 

એચસીવી: 42000KJ/kg           સ્ટ્પીડ્:2000 rpm 

 C=0.05,k=46.6 W/m/0C, Tc-Te=220 oC, 6t=38 N/mm2 લો 

૦૭ 

  અથવ   

 ક નીચેની મ ડિતી મ ટે કનેકક્ટિંગ રોડ્ I-સેક્શનન  મ પ શોધો 
રેસીપ્રોકેટીંગ ભ ગો ન ુદળ :4.1kg   એંજીનની સ્ટ્પીડ્: 1800 rpm  

કનેકક્ટિંગ રોડ્ની લાંબ ઇ: 380mm    સ્ટ્રોક :190mm 

પીસ્ટ્ટન ડ્ ય મીટર:100mm          ફેક્ટર ઓફ સેફ્ટી:6 

મિત્તમ ગેસ દબ ણ:3.15MPa           a:1/7500       

ક્રપસગ સ્ટ્રેસ: 320 MPa              બોલ્ટની સાંખ્ય :2 

4t*t*5t  સેક્શન લો 

૦૭  

   

 

 

 

 
પ્રશ્ન. ૩ અ ફ્લ યવ્િીલ મ  ઝડ્પની વધઘટનો ગણુ ાંક સમજાવો. ૦૩ 

  અથવ   

 અ કેંકશ ફ્ટ મ ટેન  મટીરીયલ અને મેનફેુક્ચરીંગ પ્રોસેસ જણ વો. ૦૩ 

 બ કેંકશ ફ્ટ પરન  બેરીંગ પે્રસર અને પવપવધ સ્ટ્રેસ સમજાવો.  ૦૪ 

  અથવ   

 બ લ ઇવ એક્ષલ અને ડે્ડ્ એક્ષલ નો એથય સમજાવો. ૦૪ 

 ક એક એંજીનન  ટનીગ મોમેંટ ડ્ ય ગ્ર મ મ ટેન  મ પ આ મજુબ છે 

 ટનીગ મોમેંટ 1mm= 70 N-m તથ  કેંક એંગલ 1mm=4.50  

ટનીગ મોમેંટ ડ્ ય ગ્ર મ એંજીનન  દર અડ્ધ  આંટ એ બદલ ય છે. તથ  તેન ુ

ક્ષેત્રફળ -35, +410, -285, +325, -335, +260, -365, +285,  -260 mm2 છે. એંજીન 

સ્ટ્પીડ્ 900 rpm અને સ્ટ્પીડ્ ફ્લ્ક્યએુશન મીન સ્ટ્પીડ્ન  2% છે. જો ફ્લ યવ્િીલ રીમ 

નો ડ્ ય મીટર 650 mm િોય તો તેન ુ દળ શોધો. રીમની પિોળ ઇ તેની જાડ્ ઇ 

કરત  બમણી  િોય તો રીમન  આડ્છેડ્ન ુક્ષેત્રફળ શોધો. ફ્લ યવ્િીલ ની ઘનત  
7250 kg/m3 છે. 

૦૭ 

  અથવ   

 ક એક ક ર મ  ગીયર રેપશયો નીચ ે પ્રમ ણ ે છે
પ્રથમ ગીયર 3.9:1, બીજો ગીયર ૦૭ 
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1.85:1, ટોપ ગીયર 1:1 , ડ્ીફરેંશીયલ ગીયર રેશીયો 5.6 છે જો વ્િીલ નો વ્ય સ 

780mm અને એંજીનની ઝડ્પ 4200 rpm િોય તો દરેક ગીયર મ  વ િનની ઝડ્પ 

શોધો.  
    

પ્રશ્ન. ૪ અ એક પસિંગલ પ્લેટ ક્લચ 25KW પ વર 3000 rpm પર વિન કરે છે . તેની બાંને 

બ જુ અસરક રક છે જો કો-ઓડફપસયાંટ ઓફ ડિક્શન 0.255 િોય તો ડિક્શન 

સપ ટીની બિ રનો અને અંદરનો ડ્ ય મીટર અને એક્ષ્યલ બળ પણ શોધો.  
બિ રનો અને અંદરનો ડ્ ય મીટર ગણુોત્તર 1.25 છે મિત્તમ પે્રશર 0.1 N/mm2 છે 

યપુનફોમય પવયર પથયરી ધ રી લો. 

૦૭ 

  અથવ   

 અ ક્રેંક શ ફ્ટ ની ડડ્ઝ ઇન કેલ્ક્યલેુશન સમજાવો. ૦૭ 

 બ એક ઓટોમોબ ઇલ એંજીન 1500 rpm ઉપર 28 KW પ વર ઉત્પન્ન કરે છે તેનો 
બોટમ લગયર રેશીયો 3.06 છે જો તેનો બિ રનો વ્ય સ 40 mm િોય તો અંદરનો 
વ્ય સ શોધો. શીયર સ્ટ્રેસ 55*103 KPa લો. 

૦૭ 

    પ્રશ્ન. ૫ અ આ.ઇ. એંજીનની ડડ્ઝ ઇન મ  ધ્ય નમ  લેવ તી પવગતો લખો. ૦૪ 

 બ ફ્લ યવ્િીલ મ  એનજીન ુમિત્તમ ફ્લ્ક્ચ્યએુશન સમજાવો ૦૪ 

 ક સ્ટ્રેસન  પવપવધ પ્રક રો ની વ્ય ખ્ય  આપો ૦૩ 

 ડ્ ગીયર ટમીનોલોજી ન  સાંદભયમ  વ્ય ખ્ય  આપો 1. ફેસની પિોળ ઇ 2. એડે્ન્ડ્મ 3. 

મોડ્યલુ 

********** 

૦૩ 

 


